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ii) All questio @‘yequa] marks.
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iti) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Define workability of the Concrete and discuss the factor
that affect the workability of the concrete, 7
rhic ot risr o aRnfia Ff Fon dhe B gedar
T IR S aTel IRGH Y R i

b) Explain about the different types of footing and types of
brick bond used in construction. 7
fmfor & sk 219 aret e woR & gfén ok de aig &
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2. a) Discuss about the any two-laboratory test conducted on

the concrete.

dhebie [ e Y el - mmmqﬁmaamﬁaai
Hiform

b) Explain about the description of the Dumpy level with a
neat sketch. 7

IR~ fr & e gt T o e & AR F Wt

3. a) Explain in brief with about the different type of levelling

operation (Profile, Cross-sectional, Differential and Fly
levelling) used in survey of the field. 6
& & A& § Iy fry i aret Rt R & wHaerT
HleH (Wisd, spa-aeFd, IR 3R v calen)
& IR A WA A Fard|

b} The following are the consecutive reading were taken with
a level and a 4-meter levelling staff on a continuously
sloping ground at a common interval of 30 m. | 8
0.855(A), 1.545,2.335, 3.115, 3.825, 0.455, 1.380, 2.055,
2.855, 3.455, 0.585, 1.015, 1.850, 2.755, and 3.845(B).
The R.L of the first reading at A was 380.500. Make entries
in level book and apply the usual check. Determine the
gradient of AB. The instrument is shifted after 5% and 10™
reading.
Pr=ifeRaa Fmar 3T @ 30 Wex & @ wEE iR
TR TGRSl aret HgH W T T 3k 4 diex & aiafemr
I & rer o ma e
0.855(A), 1.545,2.335,3.115, 3.825, 0.455, 1.380, 2.055,
2.855, 3.455, 0.585, 1.015, 1.850, 2.755, 3iR 3.845(B)I
A I ggeft ST @1 R.L 380.500 21 oXaat g o wfafdai
T 3R AMF 9% A 3N AB B FavEn s S
BuaRor o 5 4t 3R 10 4 v & a1 w=uHiaRa fsar s &
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An embankment of a width 10m and side slope of 1 5 1is
required to be made on a ground which is level in a
direction transverse to the centreline. The centre line
heights at 40 m intervals area as follows:

0.90, 1.25, 2.15, 2.50, 1.85, 1.35 and 0.85

Calculate the volume of earth work according to
trapezoidal and prismoidal method. 6
10 Hex dYer 3R 1.5:1 &1 158 Fer Wb Gl S R
SERIT ST ST & S g, Y | R e § wee
211 40 Hex ¥ sieRiet W g Y1 H FAE T IR &
0.90, 1.25, 2.15, 2.50, 1.85, 1 0.85

curTEsa iR Moz 1 & o <t A
&I T a?‘fn ﬁ&?% _ |

The following offse taken from aline to an irregular
boundary line at@ewal of 10m

0, 2.50, 3.50, 5.00, 4.60, 3.20, 0 m

Compute the area between the chain line, the irregular
boundary line and the end offsets by 8
i) Mid-Ordinate Rule

ii) Average-Ordinate Rule

iii) The Trapezoidal Rule

iv) Simpson’s Rule

fr=fafea sifrde @1 e w1 ¥ 108, & 3o W 0@
arfeafirer e X R o S

0, 2.50, 3.50, 5.00, 4.60,3.20,0m
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What are Survey Stations and How to select a Sunrey
Station. 5

4w §7 ol W R B gHE S 7

Calculate the force in the member shown in fig. using the
method of joints. 9

sivel 21 fafty @ s ey gU o A gy I e | aw
& o S

50 kN

Find the least value of P required to cause the system of
blocks shown in Fig. P-511 to have impending motion to
the left. The coefficient of friction under each block is
0.20. 6

Ry P-511 % Rxame g sl 6 wonelt o a8 SR 3w
fd T & Y AL P T <IATH W ST Y TS
&iien & g Gyl P OIS 0.20 21

P
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Determine the force in members BC, CE, and EF shown
in fig. using the method of joints. 8

et < fafty e SuaT e gl A w1 wewdl BC,
CE 3R EF & 91 o1 fufRor )

B C

0.75m

A = D

”:;:}7 lm E I m z
g\&g' 50 kN

¥
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Explain about th&@%mem pfinertia and Radius of

Gyration. @ 6

wgdT & a7 3R gureR e & an J§ GHHEY
Draw the Shear force and Bending moment diagram for

the simple supported beam carries a Point load of intensity
“W" kN at a distance of “a” from the left supports and at

a distance of “‘b” from the right supports. The total span
of length “L" m. 8

e Al din & g ofieR BRE o 4 ahie s
1, a1 wel | <a” it g W SR g wel A b A
ot aR efferam «W kN @7 faig IR T8 R &1 E|E Bl 3
arafty “L” sfre)
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8. Explain about the following Terms:

Frfeftaa o aRfa A

a) Roofs

b) Curing

c¢) Force Diagram and Bow’s notations

d) Concurrent and non-concurrent Co- planner forces
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